R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, FL-17347.2

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS DOORS

DOUBLES
w/ or w/o SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 5th Edition

(2014) Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details.

Anchor embedment to base material shall be beyond wall dressing or
stucco.

. When used in areas requiring wind borne debris protection, this product is

required to be protected with an impact resistant covering that complies
with Section 1609.1.2 of the FBC.

. For 2x stud framing construction, anchoring of these units shall be the

same as that shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further

engineering analysis by a licensed engineer or registered architect.

plastpro

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes

Door & Sidelite panel details

Lite frame glazing details

Elevations

Vertical cross sections

Horizontal cross sections

Buck anchoring

Frame anchoring & hardware details

V(O (N[N | B WIN|—

Bill of materials and components

[=— 74" MAX. OVERALL FRAME WIDTH —=

82" OVERALL FRAME HEIGHT
(INSWING)

81.125" OVERALL FRAME HEIGHT

(OUTSWING)
X

T.i 74" MAX. FRAME WIDTH —»T« FRAME WIDTH |

148.5" MAX. OVERALL FRAME WIDTH

37.25" MAX.

JE——

T
A
g g
L3
g O é z
xZ 52 O X e X 0]
= s =P o
<Z &3
BT 2%
S O
S &
8 =
|
e . IDESIGN PRESSURE | DESIGN PRESSURE
- MAx : ma
. POS.

XX

74.0" x 82.0"

OXXO

148.5" x 82.0"

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE C.A. No. 9813

W

Lyndon F. Schmidt
P.E. No. 43409

R

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

K
BY

REVISIONS

1 |04/14/15 |UPDATE TO 5TH ED. (2014) FBC

NOJ DATE

DATE: 10/8/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—17347.2

SHEET 1 oF 9

© 2014 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvais\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 2.2

@PLASTPRO SIDELITE PANEL

\\\\
N\ FL L LT TON
I EXTERIOR 28" . A '
oa—T 0.7 ~—04 §§p .
e NS B } =Ti# g
o oy : ‘ 3 '..:' :ﬁ E(d)):' ::'
RN RS . L | % S
CAP (PVC) \ S T
HINGE STILE (LVL) INTERIOR LATCH STILE (LVL) CAP (PVC) i
@@ TOP RAILL — 5 \
(COMP.) e %g X\
v".""‘..“ . (& \‘:‘
/ 1"\ HORIZONTAL CROSS SECTION ST .- \ ¥
\2/ AN
- M 4
’..:' . ?'.." '.
35.75" MAX. PANEL ‘-_"7 .
WIDTH TS
D Al
1 ]
/ .
%
(1N / > \
= - \
A\
\2/ ) 8 EXTERIOR INTERIOR
[ —
5 2 ,
V]
xI
o L
£ © ]
> 1l® ——
< KNOB: SERIES (400) , .
2 U KWIKSET | pEADBOLT:  SERIES (660) S
~N - .
2 GCHLAGE | ANDLE SET: "F' SERIES (Fé0) Y
DEADBOLT: "F" SERIES (F40) L
/ KNOB:  "F'SERIES (FI0) P
\WVa SCHLAGE | hEADBOLT: "B SERIES (840/62) {SCQ@AU%STRH?N/E/ A
/ SEE DOOR LOCK (A |KNOB:  ciRRUST00C 1.9 PCF MIN, Tl e
HARDWARE TABLE DEADBOLT: 820 SINGLE CYLINDER ‘ ' cet T
AT
FBERGLASS SKIN — | -, * |l
(0.075" MIN. THK.) R N
(2 > i n
40 ) PLASTPRO DOOR PANEL BOTTOM RAIL—[[_:i7.
(COMP)) Ml

/" 2"\ VERTICAL CROSS SECTION

\2/

in
o
0
.M
G ™
z
“—-'l\
-
g2
<‘c%,’?
‘_..—
Sgek
D 90.?3.
o
\ Gm®2
n>)" O N -
- 0 <&
el O Xz
2 z2%“o0
§ Eo F@o0
a £ 0O > 'CUJ
ey 502%
R monL
LN
E o
o C
£ 0% L§
3 0O .
g su
a 2 a%
o
S Eo
o ==l
o o<
& =n
ig |5 28
) B«
EE I
ax o
LJ ‘(5,’03(_
D < ©
= Lo (=]
O o
3 o
el |&
o o
Sl
B
o
o
N
| B
8 3
= &
gl @
2
e
I2
a
o
S
0
Lt
M=
S
3
Q L2
“lo
=z
oaTE: 10/8/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—17347.2

SHEET 2 oF G

© 2014 R.W. BUiLDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 3.2

23.88" MAX.

"7 FRAME WIDTH )
2L13'MAX. | 2
D.LO. WIDTH |
J
— 9
Pk
N
i o
I
2 = ]
I
s 8
<z —
L ]
= #8x2-1/2" PPH SMS
o . L (P)
2= o
= 2 S
8 I :
~O
3.25" §
ODL LITE FRAME

#8 X 1-1/2" PPH SMS

INTERIOR

#8 X 1-1/2" PPH SMS

1.375"

. ODL LITE FRAME
HP Polypropylene

GLASS BITE 3/8"

— 1/2" OVERALL GLASS THK.

1/8" TEMPERED GLASS
/

g egaser]

e e o

FEEHIITEIE TETEETE T -

EXTERIOR

GLAZING DETAIL

\ AIR SPACE
1/8" TEMPERED GLASS
ALUMINUM SPACER
REDI-SEAL GLAZING COMPOUND

3.25" (TYP.) —j ]<— g

f=— 3.25" (TYP.)

10.5" (TYP.)

65.88" MAX. FRAME HEIGHT
63" MAX. FRAME HEIGHT

#6 X 1-3/4" PPH SMS

L

12.75"O.C. (TYP.)

@ RSL LITE FRAME

#6 X 1-3/4" PPH SMS

2"MAX || _
D.L.O. WIDTH !
23.88" MAX. _
FRAME WIDTH
RSL LITE FRAME
#6 X 1-3/4" PPH SMS

HOT BUTYL SEALANT (ADCO)

3/8" GLASS BITE

INTERIOR
—1/2" OVERALL GLASS THK.

1/8" TEMPERED GLASS
}/4 AR SPACE

S

T~ 1/8" TEMPERED GLASS

CONTINUOUS

EXTERIOR METAL SPACER

GLAZING DETAIL

i
[¢)]
']
)
o™
b4
.—___I'\
i oo
o
Z 0o
e 0]
EEwp-
2 )
D fgo.?.
[+
W Em®2
1 O N -
m o
o o xz<
? = ZzZ 0“0
st Eq =My
2 co O cuw
Ay 502
LT¢ modow
L
c O
[}
£ 6% §
3 0V .
g su
o 2o e%
o
S 3
L
oS | 4
@ =z
v ;KQ
EQ |5 K
e
o =N
ax (W=
‘&5' 0 3
m g O
55 |x
3 o
el |E
o o
Sl
3
=
o
S Jn
|16
Q
; %)
ol
hd =
e
=
Q
o
D
0
Lt
=
SIS
v—
O v
(@)
zZ
bate: 10/8/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—17347.2

SHEET _3 oF _9

© 2014 R.W. BUILDING CONSULTANTS INC.



TONL SINVITINSNOD aNiauing "m'd + 102 QO

Ll . . /
\\\ / \\:I 0 m \ W’////

T186 ON 'v'O 3dad SNOISIATY
L6LB'6G9°CLE 'ON suoyd A8 31vd [ON N
S6SEE T4 ‘OOUIDA ‘0£Z Xog ‘O'd \Su SNOLVAI T Mr | o84 (»102) "a3 HIG Ol 3vadn| ci/v1/¥0| 1 m vilx|@2] N 9_
“ONI ‘SLNVLINSNOO ONIQTINg \n/m KTANISSY 90 19vd o= T > |8
Wity N Z g
/rf ~\\\ o Z — 4_
O @J(ZO\ Z, 60¥Sy ‘ON "I'd —| |&|&lg |
O3 WO, : 4004 SSY1943gld REAEER
S naiicn )Y, wwuss 4 uopuk ONdlSYId " AGED | B
,/0/ « ‘o w . “ m Ol x [}
~ .’ KX kg peupdeld sjusuwinosoq 10Naodd S W 5 m %
; V& S
P¥Z Nm\
E % eOvEyON i =
\\ J- o-. ,Il
\ ". ..: l
\\\\\ <o wa”_._.m:u.‘"..\/ )

i

:

/

g

4
&/

XX
OXXO

ELEVATION
ELEVATION

©

/
Vi

Ty 'BMP T LpELT-TA\WBLND\SBUIMRIQ - D\/PELT - Id\s[eAoJddy 3onpold epUOI\LNINYIWYId Jul ‘oudiseld\susiD\:y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 5.2

Lddddes
\RAAEES ¥ |

INTERIOR

EXTERIOR

A\

/1" VERTICAL CROSS SECTION

Inswing shown (Outswing similar)
2X Buck Construction

NOTE:

1. Spacing foritem J @ head & sill: 6" from each end,
1 @ centerline, 2 additional at 3" & 4.5" from end
adjacent to door.

\\

INTERIOR

EXTERIOR

/~ 4\ VERTICAL CROSS SECTION

\y Inswing sill

9

- 1L

EXTERIOR

INTERIOR

A\

/" 2"\ VERTICAL CROSS SECTION

5§/ Inswing shown (Outswing similar)
1X Buck Construction

//

INTERIOR EXTERIOR

e

SASANAARAAA AN AN

/5\ VERTICAL CROSS SECTION

W Outswing sill

SEENOTE 1

EXTERIOR

INTERIOR

W

7”3\ VERTICAL CROSS SECTION

5 /Inswing shown (Outswing similar)
2X Buck Construction

INTERIOR ){ EXTERIOR
SEENOTE 1

m VERTICAL CROSS SECTION

\SJ Inswing sill

W

Wittty
SCHMy,
*"\ICENSs*

.
.

2.
T
B\ ”llum\{:
5
>
[
24
D
/"8 VERTICAL CROSS SECTION
(5_/ADAS
W\
INTERIOR EXTERIOR
SEENOTE |
DO e m=
D

(71 VERTICAL CROSS SECTION

W Inswing sill

@)
”
7,

)

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE C.A. No. 9813

Documents Prepared By:<,

Lyndon F. Schmidt
P.E. No. 43409

Ry

PLASTPRO

FIBERGLASS DOOR
SECTIONS

VERTICAL CROSS

PART OR ASSEMBLY:

PRODUCT:

JK
BY

REVISIONS

1 |04/14/15 |UPDATE TO 5TH ED. (2014) FBC

NOJ DATE

baTe: 10/8/14

scale:  N,T.S.

CHK. BY: LFS

DRAWING NO.:
FL—17347.2

SHEET _S5 oF _9

© 2014 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fi - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 6.2

\\

/"5 \ HORIZONTAL CROSS SECTION

\U Inswing shown r\{O.ufswing similar)
(Shown w/out Reinforcement)

A\
\\

0- ] 5" O.‘I 5"
=~ 015" __, T CSINK
@‘l C'SINK N
e e SEENOTE | ®\ g .
EXTERIOR Q% o EXTERIOR
N
\ = ~
i \\ ‘
% : INTERIOR @ INTERIOR
/1" HORIZONTAL CROSS SECTION /“2°\ HORIZONTAL CROSS SECTION /“3 )\ HORIZONTAL CROSS SECTION
é Inswin%(shown {Outswing similar) 6 / Inswing shown (Outswing similar) W Inswing shown (Outswing similar)
2X Buck Construction 2X Buck Construction 1X Buck Consiruction
NOTE:
1. Spacing for item J: 6" from each end
and 3 more equally spaced along
sidelite jamb (5 total).
015" __,
C'SINK SN
_ /@ SEENOTE 1 ®\ i Nl S
g @ EXTERIOR
XTERIOR

A

7”6 "\ HORIZONTAL CROSS SECTION

/~ 4\ HORIZONTAL CROSS SECTION

W Inswing shown (Outswing similar)
Inswing shown (Outswing similar)
1X Buck Construction

\

y

witliigy,
.SCHuy

P.O. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

PLASTPRO
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL CROSS
SECTIONS

JK
BY

1 [04/14/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

NOJ DATE

atE: 10/8/14

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—17347.2

SHEET 6 oF 9

© 2014 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOD aNIgiing

M vL0oZ o

PN OIS
, L N A8 JIV3_JON] « N
S6SEE T4 ‘O9HIPA ‘OEZ XO8 O'd § ONIJOHONV %on8 wr_| o84 (¥102) ‘a3 HIS OL 31vaan| si/vi/po b+ | |u|X |2 ~ 9_
“ONI ‘SINVLINSNOO ONIaTINg @g KTaNISSY 90 1avd NI
N[ Z 8§ N
(@) . Z ~— I\
60¥SH "ON “3'd ¥00a SSv19¥3gid =l . |&|&lg ! _
PILGDS '4 UOPUA] 0¥d1SY1d i s|IET|E
Ag peipdeid sjuewnoog :10NA0Yd 3 m HEE &
I Sr21h
Ixi ixITOy
+ . eo¥eyON ; =
z . s F
\\\\ /\W.:w.m._._.m.. LA ////
%, \SIUW.W o
\\\s ’///
Hopgpw Al (dAL) XYW
— T dAL D091
« :#
o t | i t I
o
T
s
—_ >
o =
Ex
™~
1L O
€ * i H WAA
s
o £
E %
Nl
Sl B ®
/ %) \\. m
N W 5. oz
B < — N O
o ™ a s
-.4..4¢ o WH c-...i,.. H
2y = 5 C
S M S
e T <
-3 ( ] | | ¥ <
AR R LEPT B I IR SRR 5 3
o . . . .A........... | ] ......‘.. 4 A > " W
o
>
o~
B | aad X
T P 20.91
Is) f 1 1 1 1
s
o =
Ex
Nl
€5 s x
[7¢]
e <~ o
4‘ ] W n-,.,v...
-.....4 o+ t.... -
...q . & -7 1
l: .A.l H n.!.\'
Wl.im O [ _ | | L N
v 4.. . .. 4... .Jf . . a.v.. ...< M v.n -..“ S
* - M .¢.m.€.....4...mw o \ ww'an¢ 5 »: m
e . 9 . &
T e 2E <
N =

T'L'BMPY-T" LpELT-TH\JURLND\sBumRIQ - D\ZPELT - H\SjeAoiddy 1onpodd epuoi\LNINYINYId dul ‘oldiseid\siuaiido\y



\
Q o f{): B \\\
n E 2 "-C"-f) I £ N
e |~ 2 (TYP) *] —— 6 (P o< STR NS & 0
4" (TYP, }«m & NS 0
(P — $ =5 R 1111 Sy ¢ B
A\ IXBUCK & o 11 =& Z N
LT | _ S : g T :-_3;33 25
R B = STI
e L ] . e o %o AL Z2om
& vad® SEE HINGE 3 =8 2 T E
— (Jaoucx O ¥ C "0 B oma L i T S 5303
- \ ©0 9
1XBUCK ‘ 1 U 8R .=
HEAD & JAMBS \ | nle g 2523
- (TYP) =l —T HINGE DETAIL 1 , Slt Ega 5%¢,
o (12) #8x 2P/ § (14) #8x 2" PH Sle g% 5085
SELF-DRILLING SMS [ Sl 92 BaED
X X | SELF-DRILLING SM$ Sy u¥
- il 5 Nl =
\% 1X BUCK T N g Buj Q§
GE XBUCK T [ S 2o
- — S& o T o XRENF, & — . | 8
SILL (TYP) O o []le< Og SEEHNGE B % ©
=3 ® ] o= 2E DETAIL 2 83 @
~¢ []® ""§® b «© :’{} ~ v e (DC:JO
~ ~ i =R IR g | &5
| L1l I \ i../ ‘ﬂ $$$? e e
. am ..
HINGE DETAIL 2 Sat L b2 |3 2¢
T 333 S §§§ S w3
AN 5 | =2
Endura DLP 2 12 §_§E
-
, ) ) HINGE JAMB ASTRAGAL SCREW LOCATIONS S g %
g 3" (TYP.) 2" (TYP.) - 6" (TYP) 3 e
(vp) ; 4" (TYP.) & &
4 (1YP) — |
x>
T 1M1 T L1 | ASTRAGAL STRIKE PLATE 5| S|é
o % - - / (1.19"x3.25") - S
7=y :
wivn L
(F)2xBuck L& _— &< <
- - — = ©z |0 S
(D )xuck =12
HEAD & JAMBS gl 6
R - - ~ [ ASTRAGAL BOLT DETAIL . zl
T y el
o) X X o) Strike Plate @ Head «w o
— —_— — 1 % E
Q
Q.
— 2D
MULLION JE D — = = 2l
- — _ — E &
SIL TR (TYP.) O o LATCH AND DEADBOLT DETAILS Tl
< N A2 NE
ll h ' 3
S Ul — d
| LT il L|T | 3/8' @ BOLT HOLE L2
ASTRAGAL BOLTDETAIL  ASTRAGAL BOLT DETAIL p— /8/
Outswing Threshold Inswing Threshold - -m N.T;’i.

CHK. BY: LFS

FRAME ANCHORING HARDWARE DETAILS R 17347.2

SHEET _8 oF _9

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 8.2

© 2014 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

ITW BUILDEX 3/1¢"

X 1-1/4" 3" 1-1/2"
TAPCON 1/4" 1-1/4" 7 4"
srRacon® | 14" 1-1/4" v ol

WOOD SCREW INSTALLATION NOTES:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (G >=0.42) WOOD

B 2X BUCK (G >=0.42) WOOD

C 1/4" MAX. SHIM SPACE -

D 1/4" PFH CONCRETE SCREW {1-1/4" MIN. EMB.) STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

G 3/16" PFH CONCRETE SCREW (1-1/4" MIN. EMB.) STEEL

J #10 X 2-1/2" PFH WOOD SCREW STEEL

K #10 X 2" PFH WOOD SCREW STEEL

M #8 X 2" PH SMS STEEL

1 POLY FIBER JAMB COMP.

5 2X REINFORCEMENT (G >= 0.55) WOOD

6 DOOR SWEEP PVC

7 WEATHERSTRIP (ENDURA FORCE 5) FOAM

8 WEATHERSTRIP (Q-LON]) FOAM

9 #9 x 3/4" PFH WOOD SCREW STEEL

11 4" X 4" HINGE STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 QOUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 ADA THRESHOLD ALUM
25 OUTSWING THRESHOLD ALUM/WOQOD
26 INSWING THRESHOLD ALUM/WOOD
27 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOQOD
33 ASTRAGAL (DLP OR ENDURA) ALUM
40 DOOR PANEL -
S0 SIDELITE PANEL -

CONCRETE ANCHOR NOTES:
. Concrefe anchor locations at the comers may be adjusted to maintain the min.

~—1.75"

2.88"

<::) ASTRAGAL
DLpP

4.56" -

~1.25" —]

! 244"

0.75"

! 213" —=

@ POLY FIBER JAMB

T 1.4" ]

4.56"
20 INSWING THRESHOLD

Endura (Z-Series)

i 21"

—

2"

SIDELITE
ADAPTER

4.56"

|

21 INSWING THRESHOLD w/ SIDELITE ADAPTER

Endura (Z-Series)

1.25"

25 OUTSWING THRESHOLD

DLP

5/16" @ SLDEBOLT .
(2' THROW @
EACH END)

2.65

CONCEALED
STIFFENER

—-—1.75" »l

h

5/16" @ SLIDE BOLT
(2' THROW @
EACH END)

BOLT RETAINER

33 ENDURA ASTRAGAL

Ultimate Humicane

4.56"
22 OUTSWING THRESHOLD

Endura (Z-Series)

4.56" -

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

1.23"

457" —i

U ==

0.83"

2% INSWING THRESHOLD

V—Q.]Q"ﬁ
F

4.57" ,!

27 INSWING THRESHOLD w/ SIDELITE ADAPTER

in
a
s ]
.M
oM
z
feh
S22
1 0w
3>,,50)
%)O-v— .
[¢]
5 SRz
o' .
38 2323
§ Eo F0¢
Q. [e) b e
£ A% 5024
LU Dooo
s n
c (o}
®
£ 62 §
a2 OV .,
§ Su
a 2o e%
o
n
S
S =2
oo =
o L b
ER | <38
23 |3 =8
2 |3 53
(g0
oy < ds
x| @
O
3 o
el B
o o
S5
&
Lo
-~
)
N (7))
| 18
[
E %]
=
o
I
0
Q.
>
0
Ll
=
SIS
*
c (2
- |0
Z
oatE: 10/8/14
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—17347.2

SHEET _9 oF _9

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\Fl - 17347\C - Drawings\Current\FL-17347.1-.4.dwg, 9.2

© 2014 R.W. BUILDING CONSULTANTS INC.



